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The comparison

Complete each of the following items so that the new item has a similar
meaning to the one before it, and write it down in your ANSWER BOOKLET.
: (6 points)

1-Gas is more expensive than it used to be.

(60 F R -] £ L SRR
2-There were less casualties than in the other accident.
TRCIC WEICI'T aaueeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeseenssssseeseeeessssssssssssssessesenens

3- | know your children better than you.

VOU AON Teeeeeeeeeeeeeeeteeeccteeecsrresecaeesssssesessaseesssssassssasessssnens
4- L usually get up earlier than my wife.

MU WHTC woeeeeeeeeeeeeeeeeeeeeieeeesteeeesveeeesssessssssesssssssssssssesssssssssssssesas
ANSWERS
( 1- PETROL isn't as expensive [cheap as it used to be)
(2-as many casualties as other accident)
(3- vou dont know your children as good/well as me)
(4- my wife doesn't get up as early as me)
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1- John wasn't as educated as Ola and Rami .

Ola and Rami

2- John is slower than khaled .

khaled

3- Rashed and Zain are both Smart.

Zain :

4- Neither John nor Anas are as popular as Ahmad .
Ahmad

5- This car is the cheapest in the garage .

This car




Answers

1- were more educated than John

2- isn't as slow as khaled

3- is as smart as Rashed

4-is more popular than John and Anas
5- is the least expensive car

Choose the suitable item from those given to complete each of

ie . the following
sentences and write it down in your ANSWER BOOKLET.

(6 points)

Question: Circle the correct answer

1- Mazen isn't as as Ali .
a- tallest b- tall c- taller
1- Mazen is than Ali .

a- tallest b- tall c- taller
1- Mazen is the .

a- tallest b- tall c- taller
1- Mazenis ............... than you .

a- good b-best C - better

Indirect (embedded / impersonal ) questions

1. Where should | revise for exams?

.................................................................................................................................

1. Could you tell me where | should revise for exams?

2. Do you know how much sleep teenagers of our age need?
3. Do you know if it is possible to improve your memory?

4. Do you mind telling me what you mean by ,mnemonics"?

Another question ...



1.Can you suggest a healthy breakfast?

Do yvou mind suggesting a healthy breakfast?

2. Please help me to plan my revision.

DO YoU MiNd ---========= == ?

3. How can | relax?

4. Are we allowed to eat sweets during the exam?
————————————————————— You KNOW-----==--=——cmmmmmmm e 9

5. Please tell me where you found that information.

Answers

1. Do you mind; a healthy breakfast

2. helping me to plan my revision

3. could; how | can relax

4. Do; iflwhether we are allowed to eat sweets during the exam
5. Do you; telling me where you found that information

6. Do you know; the exam starts at ten or half past ten 1-Could
you explain the best way to revise ?




The impersonal passive

Complete each of the following items so that the mew item has a similar
meaning to the one before it, and write it down in your ANSWER BOOKLET.

(6 points)
1. People say that the brain is like a computer.
L the brain is like a computer.

2. They claim that money can"t make us happy .

1. is said that 2. is claimed not to make us happy. 3. are known to be the best students 4. is known
that Jihad is a hard working student. 5. is said to make you healthy and wealthy

Wish grammar

Choose the suitable item from those given to complete each of the
sentences and write it down in your ANSWER BOOKLET.

following
(6 points)

_1. Ziad is not very good at basketball. He wishes he.................... taller!
(is / were / was)
2.l can’t do this exercise. | wish I.................... it.

(understood / understand / understanding)
3. Mr Haddad does not understand the Chinese businessman.

Ifonlyhe.........coeeeiiiis Chinese.



(speak / spoke / had spoken)
4. Jordan needs to import a lot of oil. If only it............. larger oil reserves.
(has / had / had had)

1. were 2. understood 3. spoke 4. Had

Complete each of the following items so that the new item has a similar
meaning to the one before it, and write it down in your ANSWER BOOKLET.
: (6 points)

1. Sultan forgot to do his Science homework.

If only he
2. Oh no! I've forgotten my library book. | left it at home.

I wish | it.

3. Our team didn’t play very well yesterday.

If only they better.
4.Nader should have been more careful with his essay. He didn’t get a good mark.

| wish

(1-hadn’t forgotten to do it)
(2- Had done)
(3- had played )

(4-Nader should have been more careful with his essay. He didn’t get a good mark.)

Complete each of the following items so that the new item has a similar
meaning to the one before it, and write it down in your ANSWER BOOKLET.

(6 points)
1. You should practise the presentation several times. (were)
If I were you, I'd practise the presentation several times.

2. It would be a good idea for you to make a list of questions. (could)



4. You shouldn’t look too casual.(wouldn’t )

1. If I were you, I'd practise the presentation several times. 2. You could make a list of questions. 3.
Why don’t you get some work experience? 4. If | were you, | wouldn’t look too casual. 5.If | were
you, | would do a lot of research .

Read the situations and complete the sentences with the third conditional, using the word in
brackets. The first one is done for you.

1. Saeed left his camera at home, so he wasn’t able to take pictures of the parade. (could) If Saeed
hadn’t left his camera at home, he could have taken pictures of the parade.

2. 1 had a headache yesterday, and | didn’t do well in the Maths test. (might)

1. If Saeed hadn’t left his camera at home, he could have taken pictures of the parade.
2. I might have done well in the Maths test if | hadn’t had a headache yesterday.
3. | could have been able to contact you if | had known your phone number.

4. If you hadn’t had a brightly coloured T-shirt on, | might not have noticed you in the crowd.

Choose the suitable item from those given to complete each of the following

sentences and write it down in your ANSWER BOOKLET. (6 poiats)
1. If you feel tired ,you................... toseeaDr.
a-will go b-goes c-didnt go d- went
2. You will fail the examifyou ................... hard often
a- studied b-doesnt study c-dontstudy d-study
I | I ,you, | would apologise .
a- will be b-am c-werent d-were



4. When you heat water, it always ..............

a- evaporates b-evaporate c - evaporated d- don't evaporate
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